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Solution to Five in a Row 

1 2 

3 4 

2. Fold the left part of the puzzle across to 

the right. 

 

1. Fold the top edge of the puzzle 

downwards. 

 

4. Turn over sideways. 

 

3. Fold the back layers across to the right 

tucking them into the pocket in front of 

them as you do so. 
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6 5 

 

6. Turn over sideways. 

 

5. Fold the front layers upwards. 

7 

 

7. Fold the left edge across to the right. 

8 

 

8. Fold the left edge inwards, tucking it 

into the pocket between the layers on the 

left hand side. 



David Mitchell / Solution to Five in a row  3 

Copyright David Mitchell 

www.origamiheaven.com/ 

9 

 

9. Fold the front layers downwards. 

 

10. Five in a Row is solved. A second 

solution can be found on the other side. 
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